Proa§ L;' Pl;jcowe\oee,

']) Tl’um K Plyeowex O‘QE/

S E in v
Z) C i f{:Lwt are the oL‘jeo{:S
i What/where are the boxes

3) f’n{?@ffﬁbt He Pl;?eow&ope r'cSwQJE m
‘ﬁne/ aiVQv\ CDV\"?K‘L’



Chose B wumbes w202, o) 1003

Prove 2 0& thewn M\ be cov:scon‘?\/e,

Ayold “mmelanis By df%u,wnc,n‘lis ><
A NN ==

| 2 3 4 s ¢ F ___ 94 loo

CQVH: clo it: Omlj S0
PC‘aou hele a\f‘a.u\mew)::

|v2 | |34 56| --- “M,loo!

To c\hoose & vwm\e( ) ?[W a ‘G‘bkcm IA f{rs loo)f
&l tken <0 bosies ( dsue]  One [907« M
Cor\tﬂdv; Nt Ieﬂ@’t 2 4:D|<cv.g = W W\/e 2 cowewﬂ—‘:ve

V)Unwl)er!,




[A« \)‘\-‘\’ Mo ve 861/!82&

Pigeoholes B¢ we lave n bunes, ad wn obyecy

and we place aﬁQ objech ™ boges , Vhen ot
leack  eve  box i\ hawe ot lest-

M‘;‘J 4 | objecks.

Yrocﬁ/: S?(mtseovl/ '}p ‘)re\/‘«o\)s Pfolrj;( l?\' C‘Dn‘('\fa.é('(/\:fow)

T oameN, | mo) J+| = %‘ﬂ
1 some, ‘gox mw@/t Cm\/\:ai‘n ailf \CM"Z HA& a\femde”



-l <l g g 2l <xn

o Assume every box bas of” mast LM—.;'“ objecks
Totl ﬂHfoLjects < rLL_mL‘:_'- <l a [T m-|,

n
a Con"h/‘aifo&fom .

o Afs/me. everj box bas ot mest \‘_m%‘\ -\ oLJ:eJ:s
(l”o*f‘aﬂ v : 2 olt)’eoh < n(,'_’:%‘.',._o < 71(%-\-' —') .-_-’Wl)
a Conh‘ Aclt"ob'on
Whih one is better to wse ? Ba’w\. :
mne N = \_@—il-J + =[]



/iw dkecnakive oy to bok L P}@om hole,

/
ét“\/‘em, 4 ‘Z(//’“M rl{l ) %L) ~-cey X, M M

A #F %JQ& w box ¢ /‘i\l\)e Kvow
nt # LO}(C} WS

m . H Dﬁj*‘%h

Buk i 2i > 7 thes 2 > [224]

N



A‘D‘Jia@d]ﬁ«u P[/Lce/ the VM/MM h2, ... 510 e 3 bivs .
o Pawe & Wk, ove bin Gowtmins af Leat 4 rumbtss -
Pfd&omt\ole; = 2/ m= 10 . f%]: r;_o‘l = 4

a?vm(&%»& one lg,“n C@(/;a.fm_f A Sum af ML )6@47(7 19

PI@COALD\e }’L;—_;/ = /1’2'{""/0’: gg I—-STI: lq

§&Fﬂw~ﬁ7[6é %DK fcl‘ W\L'e ’tl/le WJML€VS Shaod ’bnw ae =2
CDwSeCcA/{WW }’ld/mém“ ‘bAML add c/]o Y ot )%t 20

" Divde " the chpck o
50)(6; ? 3.
Owc LOK ﬂYWeJt &W\‘l{ﬁ,'m/
A St 3& ot least:

((l+2+ Lot IZ)/AA:- 7D




b Sowne%na) we have b be “ANM/»C " about fow b sek VP
'bg)o PM)Hﬂmb

o Hes's an 6%4«»1/4%: The m//méw 14 o e ?miifm/
dowm . Aeme ondts . Shew ﬂidxe aw 3 &)Mcmjﬁve ﬂ(//MLt’V‘S

That Mup%df’faﬂi/a

Oﬂc;ﬁﬁ% L/’éoxes(mmf@w%dsuwggaf&aff‘
ee] = 14
o

Does it give vs whit e wait | ||

<

o
o



Tdea: 4 boxes oo mang .

= move Zﬂ%ﬂﬂf’ ﬂc/mé% L IO

exauple: .) N LI

—————t

Ene Lox W@Afam 4m4aféwtfgi’]; /5.
But W 'jf ts the box wifh a 1o ?

— /\/0‘/’ Dulecabive 4’1’1] move

e-lzﬂﬂawfarb numbth o box % 1D

~ Sice 10 iy Labonl ) bl wovks



Anyﬁwf 6)@»&@«3 ? Ldg “Qmmt'r m /A-eﬂ%vy Ujo ‘Zlde/
/Plﬁem%oz&

PM«&O g PDEVL{?S ov gd{\faCC ? gft’h’/l@ Prove ’h«ai" H %
Hiewm «6& mw the Same l%cmifﬁ%;%e,‘

¢\ By Rphbe one
D Q heﬂm&fhem
CDMW )’-’( 3 FD)V&I'

Does nob give s what we warC )



]jclc&: C{MQSQ ’Uu &cm[j,ﬂl’lewe;-

CWOS& lflcmisFL)em “lef"“'“{ 1%
the Czwl;em aw\cl 2 %Dorm%fj as Sboww.

A‘mw:j The 2 re/ma{mlﬁ poiuts

) O Gemisphere will coutain ot
boast Y—i—/ﬁ _ 2 ponbs
WW(/M o %eﬂnis’ohew Gon Vanes
A ponts . Done.

Pj ﬁ@m



Ano‘(l'e\er’ Vari avxt'

::5_

M)+ Mg 4 -~ + M, —n + |
ob\)‘cc«h are Flace,ol m n bo)(e,s ) 4:9\04/:

Some lt)ox L WY& CoWL‘a?n ‘>/ . olzjec/{s

pvoof :  Aswme box 4 has & mast m; -\ objects
Tote) # ohjecks < Z(’”H-Q = M+ pm, —h,
i= |
a conTradickion.



waec:
vaen, + Dbjcoks and  tuo boxe.cJ eifhe
box 1 ﬂlu; Z 2 objcdts o wa 2 (9\615 }5— o%)“eul's

W'=3 ) Onz::-'g) ‘71:2

oh(‘f’/m'z—m-l-l"—' +



